


Q. The price of an article is reduced by 25% but the daily sale of 

the article is increased by 30%. The net effect on the daily sales 

receipts is -





Q. 65% of a number is more than 36% by 58. what is 23% of that 

number ? 



Q. The price of sugar is increased by decreased its 

consumption by 20%. The expenditure of the family on sugar 

is decreased by





Q. Fresh fruit contains 68% water and dry fruit contains 20% 

water. How much dry fruit can be obtained from 100 kg of 

fresh fruits?



Q. If 60% of the students in a school are boys and the 

number of girls is 972, how many boys are there in the 

school?





Q. The price of an article is decreased by 10%. To 

restore it to its former value, the new price must be 

increased by:



Q. If A is equal to 20% of Band B is equal to 25% of C then what 

percent of C is equal to A ? 



Q. If A is equal to 20% of B and B is equal to 25% of C; 

then what percent of C is equal to A?
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